
(A)

The Solution of the free Dirac- eguation was (po =NÄF)

ein = ? ftp.fe-imusipascps-eimvsipbtscj )}
with operator a , bt . Then A) is eguivaleut to

-{air ) , äsi (Ti ) } = { b. (j ) , bts , (F) } = Zpo CzüPair-F) Es /
(ameblo.auticommutatomofa.at.b.hr#vau



^

7

T → e- icq



r



A)

( = lokal + In><it)

Paten integral-
We would like to Campeche {Tief ( e-

IM Hf -ti ) 14
.

. ) of

- n

- -1

= ¢- i Hot)" with at = ¥4 ti tf
-

Innert Id Ändern tun >< 4T I between all factor
Then we obtain (dror the % in H )

< In 1 e-
i Hot

, tun
. .
) !< In 1 e-

im btbst tun
. .
>

= <Tun I i - im btb Ot I You . . ) t Olot
'
) = (r - im Tun4

" -notKirn 14N)

(*)
= erp { - im Inn . . Ot - EIN -

ih - i
- Eünln + In Yu - s }

Re - wate the last 3 teuer in the exponent .
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the Feynman propagator




